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If condition C vs Python

int main()

i

int a,b;

NIRRT EL U - Crint ("Enter two numbers:™)

", &a,&b); a = int (input())
b = input{)

BHE i = < int(b):
print ("a is less than b")
print("a = ",a)




If-Else C vs Python

int main()
1
int a,b;
("Enter two numbers: "); print ("Enter two numbers:™)
(" ",%a,ib); a = int (input() )

(a<b){

("a is less than b\n"); 1T a < int(b):

{"d 'Ja}; print{("a iz le==s than b")
{ print("a = ",a)
is not less than b\n");

L=
L
| ]

{ll
{ll

print ("b = ",b)

- . print{"a i=s not le=ss than b")
Jb}!



If-Else-If C vs Python

int main()
1
int a,b;
("Enter two numbers: "); print ("Enter two numbers:")
("%d %d",%a,8b); @ = int(input ()
b = input ()
a<b){
( gﬁ_ : "y if a < int(b):
: y print ("a is less than bB")
print ("a = ¥, a)
elif a > int{b):
print{"a i= not le==z than b")
" b) i M- —= I
¥= 4 print ("D =)

not less than b\n");

= b"); print {"a=b")




Exercise 1
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e Fnaeinani19sulllsungy The modulo operation in
Python using a symbol

Enter a number: 50 It finds the remainder after

division of one number by

50 is an even number.
another.

Enter a number: 7 For example, 3%2 gives a
result of 1 while 4% 2 gives a

7 is an odd number. result of 0.




Exercise 2
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Enter a character: a

a is lower case.

Enter a character: B
B is upper case.

Enter a character: 9
9 is not an English alphabet.



Exercise 3
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Enter a number of hours: 3
Total price = 350

Enter a number of hours: 6
Total price =570



WaridunnIn1sunen square

Exe rC|Se 4 root #a math.sqrt Fen

aniuga math
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Enter a position of point 1 Enter a position of point 1
X1: 1 X1:. 5
Y1. 2 Y1:. O
Enter a position of point 2 Enter a position of point 2
X2: 4 X2: 4
Y2: 6 Y2: 6

Point 1 is on X-axis.

A distance between (1,2) and (4,6) is 5 A distance between (5,0) and (4,6) is 6.08




Nested-Condition
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Nested-Condition Example
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n = int {input ('Enter a number: '}) ?12 M?Q@ﬂ@ﬂﬁ@dﬂL@ﬂﬁﬂWﬁ?ﬁﬂﬁlz
% = 1
Ch s D NV ERIER
print ("3¥d i= positive®™ % n)
if n%2 == 0:

print {("¥d i= an even number™ %In)
elze:
print ("¥d i= an odd number™% n)
elif n < 0O:
print ("3¥d i= negative"™ In)
1if n%2 == 0:
print{"3¥d i= an ewven number"™ 3In)
elze:
print ("¥d i= an odd number™% n)
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elze:
print ("¥d i= zero" In)



Nested-Condition vs If-Elif

if n > 0O:
. i L if n > 0 and n¥2 = 0:
print {"3d i= po=sitive™ % n) ) ) o
f opio == 0 print ("%d is positive"™ % n)
- print ("%d i= an even number"™ %In) print("=d is an even number?® In)
glif n >0 and n32 '= 0

=

=

N1}

print("3¥d i=s positive™ I n)

- 1 - - Fr
print ("3d i= an odd number™3% n) print (":d is an odd number"% n)

=lifm < O elif n <« 0 and n%2 = 0:
print ("%d iz negative"™ %n) print ("%d is negative"™ 3%n)
1T n3d == 0O: print ("%d is an even number" %n)
print ("%d i= an even number" IN)||lz1if n « 0 and n? '= 0
elae: print {("%d is negative" %n)
print ("3¥d is an odd number"% n) print ("3d i= an odd number™% n)
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print ("%d is zero™ %In) print (":d iz zero"™ %n)




Exercise 5

* @gulilsungurinnisAuadnsnisnnatunasny (BMR) aelignanng
ATUITAAT
grufudane : BMR = 66 + (13.7 x shwindodlunn.) + (5 X dougatlu
. ) — (6.8 X 818)

g ufugnege : BMR = 665 + (9.6 X sihwinsaiu nn.) + (1.8 X daugs
duan.) — (4.7 X ang)
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Your Gender Male/Female ? : F
Enter your weight: 50

Enter your height: 160

Enter your age: 20

BMR = 1339 cal/day



